FTa89TI5



= " N < < N~ 00

.12

.12
.12
.13
.13
.14
.. 16
.18
.. 28
... 30
.. 33



1.9 (7,112km?) 17

400 800m
1,048  (H9 ) 5
1 280 (H9 ) 47 (H9 ) 7
12 ( 12 ) 1,950,828 691,620
( 1-1) 106
54
78 44
2,000 ( )
19511,0521,956 , 1,958 1,951
1,940 '
1’9291,932 !
1,900 1,926
1,850
1,800
H H2 H3 H4 H5 H6 H7 H8 H9 H10 H1l H12 H13 H14
1-1



3 1 62,358 (6.5 )
309,353 (324 ) 3 576,947 (60.4 1
( 1-2)
1
13 3
117 0.1
S60 | 36.3 519
[ 9.0 0.1
H2 | 36.5 54.4
| 127 0.2
H7 | 34.8 57.1
[ 6.5 0.7
Hi2 [ 32.4 | 60.4
0% 20% 40% 60% 80% 100%
E O m
1-2 3 12
2 7,688
6 1,064 45 1-3
8,907 32.2
6,239 225 5,502 19.9
9
1-3 )

H13

2

13



() ()

400 34,000
{ 32,000
300 1 30,000
{ 28,000
200 |
{ 26,000
100 } { 24,000
{ 22.000
0 20,000
H3 H4 H5 He H7 H8 HY9 HI0 HI1 H12 HI3
—A— —— () —0— ()
1-4
( 13 ) 4



12 738 t 2,021
118
1,029g 1,132g
60g
/ 11 /
3,000 () @ )1,200
I:i\l’léoﬂl,lozt 1106 1114 1118 1,132
1118 755 % {05 1112 1,114 | 1100
2,500 | , 1406
{ 1,000
2,000 | 00
80
1{ 800
1500
1 700
1,000 -
S56 S61 S62 S63H  H2 H3 H4 H5 H6 H7 H8 H9 H10H11 H12
2-1 1 1
+
12 15.9
1.6
2 72 92.3
100
16 98.6
— — —
1000 [—2 O .
145 152 g59 ¢
. T m— A
800 | 123 e S
115 | —1 .- N=1
00 ] o E 2| 3 12
i -8 .
600 sl I PSS 0 |
E‘"g'i-“-Eugls 10.3 10
400 | : g
|16
200 | ] — | |4
12
NE- I B B B B BN A
H6 H7 H8 HO H10 H11 H12
22 14
+

12



2-1 12 14

17 1
16 1
15 1
14 1
13 2
12 7
11 3
10 3
9 9
8 1
7 16
6 6
5 14
4 2
3 11
78
R
12 11,734 t
14 3 9 667 t 6.0
785 t 19.7 118 t
1.7 493 t 32.9 2-3
1,163 t
86.3 9 92.6 17
22
503 t 12
m (v 0O (v o t
(v
14,000
11,067 11,734
12,000 I 10,675
10,000 B 3,984 4,769
8000 [ [S278
6,000 |-
| |7.497
4,000 © 80 7,083 6,965
2,000 | 1,498 1,005
. [ —
Ha4 Ho H12
2-3 ( 14 3 )




12
1.6 426 t 2
35 21

15 258
72
15 4
14 5

83 12 5
41 84 2-5

70 84

09 t(1%) 05 t(1%)

2-5 12

190



58

13 4

15

83 12
63

12
13

17

41

14

15 4 1



( 41

2010

10 3 15 3

14 4 10

2010

14

14

15

46

2010

10

13 12



15

14

15

15

15

341



o o o o O o o o

)

(

)

(

10



16

11



10

3

3,000

12

12



13

13



3R

14




BDF NGO

15



41

1SO14031
21

21

3-1 21

16



|

3
x
"
.
"
.
u
"
.
.
.
.
.
.
.
.
.

‘sEpnsmnsnsnmuns

FLLLLEN

17

EEmsmsEEEEEEE,
>

.
e,
¥
,

LN A

.
tayayaest?




VR

18




CCA

10.5

18,000 /
4,000 /

20,000m?
8
9.7
16
16

/N\

1,300
1,650
400
900

2-5

19

/

/
/
/

1,000 /
1,500 /
200
400

0.8




( ) 100

7,500,000 / 1,000 /

(200 /) 40 [/ ).
( 100Nms/H 700kg/H)...
o 250m?2
2
o 1
o 16
16

20



35 ( 20,000 / )...

—] 1250 C

0.2

4,337m?
4

16
16

le— NaOH

130 C

60%

35%

b IXIIXT X

2-7

21

)

L 35



1,800 /

75 |/ 16 /

1,800 / 75 |/ 16

800

900
25 2

15
15

v
(PET+PE) — P

(PP+PE) — P

(PP) I

22

2.0



PFI

(51,300 ) (16,900 )
(18,600 ) (72,500 )
159,300 209 555
33,500m?
555 185 x 3
14
192.5 103.6
15
17
100 ms3N/
135
23,300
2,600
450
600
2,700

2-9 JFE

23




21

EA21

21

24

1SO14031

EA21









-

:

e

|

|

|

|

|

|

| o

|

|

|

| o

|

|

|

|

|

|

| o

|

| o

|

|

|

| o

|

|

|
e

—
b

2-13

13

27



3-1
8
2
4
27
14
55
4,000
-C/
2,000 -C/
75,600 -C/

28



3-2 1

4,000 -C/
2,000 -C/
75,600 -C/
81,600 -C/
3-3 1
3,120 / 1,868 /
2,150 / 1,680 /
20,000 /
1,800 / 270 /
294,250 / 34,635 /
321,320 / 38,453 /
S
15,000 *37 5,550
69
14 15
i O
200 / 40 /
100m3/H 1.96kg/m3 300 8
He)
i O
14 15
He)

100m3/H 1.96kg/m3

29



12 2

5-1

o ()

5-2

5-2

30




1,000

1,000
(
) 14
12
10,000
()
( 9 )
15 31
17 56,000
1,000
()
() Hi6 4
15 3 20
16
4 TLO
MOT
13 3
2

31




5-3

245ha 20.6ha 18
7.5m
10.0m
6.6KV 20KV
3km
5,000m3
IC 20 11km
2 10 7km
IC 25 (16km)
12 8km)

o

o O O O O

ASR

17

32




NPO

NPO

33

8-1

A 4




